AN

> H n N 5 n 01092186 HANSAMEDICA - Washbasin faucet

EAN: 4015474271111
statichansa.com/01092186

T | Spare parts

& @2 SP01092183

Name Code

1 Long lever, L=138 Chrome 01880076
1 Lever, L=93 mm Chrome 01880083
11 Screw, M5x8, SW2.5 59904755
12 Bushing 59904778
13 Symbol plug Grey 59912112

2 Covering cap Chrome 59912638
3 Eye screw, M50x1, SW45 59904775
31 0-ring, d 43x2.5 59911166
4 Cartridge, 4.8 eco 59904601
4 Cartridge, 4.8 Eco-Top 59911431

41 Hot water limiter 59904759
51 Pop-up operating rod Chrome 59914053
52 Swivel joint 59904624
53 Bottom seal 59914591

55 Fixing plate 59904765
5.6 Screw, M8x1, SW13 59904766
5.7 Fixing set 59910749
5.8 Installation coupling pair Chrome 59911791

59 Coupling pipe, L=430, M10x1 59912550
51 0-ring, d 7.65x1.78 59902337
512 Fixing screw, M8x1, L=140 59912474
6 Aerator, M24x1 (2011-) 59913739
7 Pop-up waste Chrome 59904620

© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024


https://static.hansa.com/01092186

